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&0
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REM DATA PROCESSING OF FETROFAERIC DIAGRAM--ROT
ATION

LOMEM: 16384: DIM X(441),W(140,7),M(100) ,N{(100)
PRINT "DO YOU WANT TO RETRIEVE THE TEXT FILE TO DR
AW A DIAGRAM?(ANS.Y OR N)": INPUT G%

IF G$ = "Y" GOTO 920

PRINT "DO YOU WANT TO RETRIEVE THE GRAPHIC FILE 7¢(
ANS.Y OR N)": INPUT G$

IF B$ = "Y' GOTD 1592

INFUT "FY (ROT.ANGLE)="3FY:FY = FY * 3.14159 / 180

HGR : HCOLOR= 7:R = 70:6 = 3.14159 / 180
FOR TH = 0 TO 360:RH = TH * G:X = 70 + R ¥ C08 (R
H):Y = 70 - R * SIN (RH): HPLOT X,Y: NEXT
HFLOT 68,144 TO 70,142 TO 70,147
VTAER 22
INFUT "DETERMINATION NUMEBER=":M
F=FP+1
INPUT "BEARING="jN: INPUT "DIF ANGLE="§J: INFUT "
I=(E=1,W=2,8=3,N=4)"351I
IFN>S0ORNCOODRJI >900RI < 0ODRI > 4 0R

I < 0 60TO 1650
IF I =1 GOTO 170
IF I =2 6070 190
IF I = 3 GOTO 210
IF I = 4 GOTO 230
= 450 - N: IF N » 360 THEN N = N — 3460
GO0TO 250
= &30 ~ N: IF N > 3680 THEN N = N - JF&0
GOTO 250
N = 340 = Nz IF N > 360 THEN N = N = 3&0
GOTO 270
N =540 -~ N IF N » J60 THEN N = N - 360
GOTO 270
Jd = {90 - J) ¥ &
GOTO 280
Jd=J % G
D=2 %R / 8GR (2) ¥* S8INNXJ /7 2):N = N % G:PY =
3.14159 / 2:X1 = ABRS (D * N {N))
IF J = PY GOTO 310
GOTO 330
Fl = 03Tl = PYSELl = 0:R1 = X1
GOTO 410
PL =D % TAN (PY - J):Tt = ATN (X1 / P1):El = R *
SIN (PY - J):R!l = E1l / COS (T1)
IF N > = 0AND N < 3.14159 GOTO 370
IF N > = Z.14159 AND N < T # PY GOTO 400
IFN> =3 % PY AND N < 4 % PY GOTO 400
IF FY + Tt £ = PY 6OTO 390
Vi = Rl # 8IN (FY + T1 - PY): GOTO 420
Vi = Rt # &IN (PY -~ FY - T1): GOTO 420
Vi = R1 ¥ SIN (PY - T1 + FY): GOTO 420
Vi = R1 # SIN (FY)
L1 = SOR (RI 2 ~ V1 ~ 2):L2 = SR (R~ 2 —- V1L ~

2):J1 = ATN (V1 / L2)
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44Q
450
4460

47Q
480
490
500
510
S20
530
540
a0
S60
S70
=80
590
&0Q0
610
620
630
&40
650
b&0
670
&8Q

670
700
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704
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720
730
74C

742
745
750
760
770
780

70
800
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az0

830

DI = SBR (2) * R * SIN {((PY - J1) / 2):R2 = SBER
(L2 ~ 2 - L1 ™ 2):N1 = ATN (Lt / R2)

IF J = PY GOTO 440

GOTO 520
IFN=0OORN=PYDRN=2%PYORN=23 % PY OR
N = 4 * PY BOTO S10

IF N > 0 AND N < PY GOTO 640

IF N > PY AND N < 3.14159 GOTO 670

IF N > 3.14159 AND N < 3 * PY GOTO 660
IFN >3 % PY AND N < 2 % 3,14159 GOTO 670
N = N: GOTO &80

IFN > =0 AND N < 1.57079 GOTO 560

IF N > = 1,57079 AND N < 3.14159 GOTO 5680
IF N » = 3.14159 AND N < 4.71238 GOTO 600
IFN > = 4,71238 AND N < 6.,28318 GOTO 620
IF FY + T1 < = FY GOTO 640

GOTO 660

IF FY + T1 < = PY 6OTO &5Q

GOTO &70

IF PY = T1 + FY < = PY GOTO 660

GOTO 650

IF PY = T1 + FY < = PY GOTO &70

GOTO 640
N = 6.28318 + Ni: GOTO &80
N = 3.14159 — Ni: GOTO &80
N = 3.14159 + Ni: GOTO &80
N = 6.28318 - N1
M(F) = 70 — Di %* SIN (M):N(F) = 70 + Di * €O0OS (N
): HFLOT M(F),N(F)

IF F = M GOTO 702

GOTO 110

FRINT "+ REVISE *:FRESS HCOLOR=0:80T0O120:FRESS WR
ONG DATA THEN HCOLOR=7:G0T0O120:FRESS CORRECT DATA.

AT LLAST FRESS “CONT™"

STOF

FRINT "DO YOU WANT TO FRINT THE DIAGRAM 7(ANS.Y O
R N

INFUT As

IF A% = "N" GOTO 7350

FR# 12 PRINT : PRINT TAR( 4)"FOINT-GROUF DIAGRAM
(AFTER ROT.)": FOKE 1913.65: FRINT CHR$ (17)

FRINT TARB( 10)5"** WAIT FLEASE *="
E = 0:8 =20

FOR I = O TO 140 STEF 7

FOR J = 0O TO 140 STER 7
SFOR K = 1 TO 1Q0

IF M) > J — 7 AND M(E) < J + 7 AND N{(K) > I - 7
AND N(K) < I + 7 THEN § = 5 + 1

NEXT K
E=E + 1:X{(E) = 5:5 =90

NEXT J: NEXT I

X€11) = X(11) + X{431):X{431) = X{11):X(12) = X{1iZ2
Y 4+ XA4Z0): X{430) = XA412) 2 X {13) = XA{13) + X{429):X
(429) = XL13):X{10) = XA{10) + X{432):X(432) = X{10
YeX{(Q) = XAQ) + X(4Z33X):X{433) = Xi2)

X{413) = X{413) + X{B):X{(B) = X{413):X{407) = X114

Y o+ X(407):X{14) = X{(407):2X {35 - o)+ XL33) 2 X
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86Q
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gao

890

Q0

10
Q20

93

240
PS50
&0

P70
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P90

1000
1010
1020
1030
1040
1085

1060
1070
1080
1090

{482) = X(35):X(29) = X(29) + X(434):X(434) = X (29

):X(28) = INT ((X(28) + X(414)) / 1,125):X(414) =
X<28)
X{3&6) = INT ((X{(3&) + X{4046)) 7/ 1.125):1X(406) = X

(36):X(231) = X(231) + X(211):1X(211) = X(231):X(19
0) = X(190) + X(252):1X{252) = X(190):X(149) = X(1&
7) 4+ X(273):X(273) = X(169):1X(210) = X(210) + X(2%
2)
X(232) = X(210):1X(189) = X(1B9) + X(253):X(253) =
X(189) 1 X(275) = X(275) + X(1&8):1X(168) = X(275):X(
149) = X(149) + X(294):X(294) = X(149):X(297) = X(
293) 4+ X(148):1X(148) = X(293)
X(167) = X(167) + X(274):X(274) = X(1&67):X(29&) =
INT ((X(296) + X(146)) / 1.125):X(186) = X(296):X
1128) = INT ((X(128) + X{314)) / 1.1:X(314) = X(1
€B):X(48) = INT ((X(48) + X(394)) / 1.425):X(394)
= X(48)
X(O8) = INT ((X(58) + X(384)) / 1.625):X(384) =
(S8):X(59) = X(59) + X(383):X(383) = X(59):X(47)
X{47) + X(395):1X(395) = X(47):1X(&7) = X(67) + X (37
S)1X(3I75) = X(467)
X487) = X(B7) + X{(IS5):X(355) = X(87):X(81) = x(81
) o+ XUT6LIIXLT61) = X{BL):X(103) = X(103) + X(379)
PXAIIP) = XL103)1X(68) = X(68) + X(396):X(396) = X
(6B):X(BO) = X(80) + X{3I82):1X(3I82) = X(80)
X{102) = X(102) + X(I60) 1X{360) = X(102):X(174) =
XL124) + X(338)1X(33B) = X(124):X(88) = X(88) + X(
S76):X{X76) = X(88):X(108) = X(108) + X(356):X (354
) = X{10B) 1 X(374) = X(374) + X(4b)
XI46) = X(374):X(362) = X(362) + X(b60):X(60) = X(3
62):X(354) = X(T54) + X(&6):1X(66) = X(354):X(340)
XA340) 4 X{BRY:X(82) = X(340):X(3T4) = X(IZ4) + X
BEY:X(B6) = X(Z34):X(318) = X(3I1B) + X(104):X(104)
= X(318)
FOR I =1 TO 44%: FRINT " "iX{I)i: NEXT : PRE O:
FRINT
FRINT "DO YOU WANT TO SET UF A TEXT FILE? (ANG.Y G
RN o
INFUT A%$:D$ = CHR$ {4)
IF A% = "N" GOTO 990
INFUT "WHAT'S THE FILE'S NAME?"3iNg
PRINT D%3“MON C,0": PRINT D$;"OPEN"§N$: FRINT D$3
"WRITE"; N&
FOR I = 1 TO 441: PRINT X{I): NEXT
FRINT D$;"CLOSE";N$
FRINT "DO YOU WANT TO RETRIEVE THE TEXT FILE? (ANS
Y OR N
INFUT B$
IF B$ = "N" GOTO 1070
INPUT “NAME OF THE TEXT FILE?":z%
FRINT D%;"MON £,1,0"
PRINT D#: "OFPEN"§Z$: FRINT D$i"READ";Z%
FOR I = 1 TO 441: INFUT X(I): NEXT
FRINT D#$3"CLOSE"3 7%
HBR : HCOLOR= 7
FOR O = 0 TO 19
FOR Y = 0 TO 7 STER 7

X



{100 FOR X = O TO 140 STEP 7

1110 A = A + 1:WIX,Y) = X(A)

1120 PRINT " "3X(A)3

1130 NEXT X: NEXT Y

1140 FOR X = O_TO 140 STEP 7

1150 Y = 0

1160 IF WiX.Y) = W(X,Y + 7) GOTO 1210

1170 A1l = ABS (W(X,Y) = W(X,Y + 7)):A2 = INT (Al / 7
* 100 + 0.5) / 100

1180 IF WX,Y) > W(X,Y + 7) GOTO 1200

1190 FOR I = 1 TO &:W{X,Y + I) = W(X,Y) + I * A2: NEXT
I: 60TO 1220

1200 FOR I = 1 TO &:W(X,Y + 7 = I) = W(X,Y + 7) + I %
A2: NEXT I: GOTO 1220

1210 FOR I 1 TO &6:W(X,Y + I) = W(X,Y): NEXT I

1220 NEXT X

1230 FOR Y =070 7

1240 FOR X = O TO 133 STEP 7

1250 IF W((X,Y) = W(X + 7,Y) GOTO 1300

1260 A1 = ABS (W(X,Y) — WX + 7,Y)):A2 = INT (ALl / 7
* 100 + 0.5) / 100

1270 IF WX,Y) > WX + 7,Y) GOTO 1290

1280 FOR I = 1 TO &:W(X + I,Y) = WIX,Y) + A2 ¥ I: NEXT
I: GOTO 1310

1290 FOR I = 1 TO &:WIX + 7 = I,Y) = WX + 7,Y) + AZ *
I: NEXT I: GOTO 1310

1300 FOR I = 1 TO &:W(X +° T V) = WIX,Y): NEXT I

1310 NEXT X: NEXT VY

1320 VTAE 24: HTAB 14: INFUT "N(MAX DATA)=";N

1330 IF @ < 19 GOTD 1400

1340 FOR Y = O TO 7: FOR X = Q TO 140: FOR I = 1 TO N
STEF 2

1350 IF WX,¥) < I + 0.2 AND W(X,Y) > I = 0.2 GOTO 13
70

1360 50TO 1380

1370 HPLOT X + 10,Y + 10 + @ * 7

1380 NEXT I: NEXT X: NEXT Y

1390 GOTO 1410

1400 GOSUBR 1540

1310 B = @ + 1

1420 IF B = 220 GOTO 1450

1430 A B % 21

1440 NEXT @

1450 G = F.14159 / 180:R = 70

1440 FOR.-C = 270 TD 450 STEP 0.5:V = C * G:X = 80 + R
* [£OS (V):Y = 80 -« R ¥ SIN (V): HCOLOR= Q: HFLOT
X:Y TO X + 24,Y: NEXT : HFLOT 45,150 TO 115,150

1470 FOR € = 90 TO 270 STEP 0.5:V = C % G:X = 80 + R %
COS (V):¥ = 80 -~ R % SIN (V): HFLOT X,Y TO 0,Y: NEXT
: HFLOT 45,10 TO 115,10 '

1480 HCPLOR= 7: FOR C = O TO 360 STEP 0.5:V = C % G: HFLOT
BO + R ¥ (0S5 (V),80 — R * SIN (V): NEXT

1490 HFLET 78,154 TO 80,152 TO 80,157

1500 FPRINT "DO YOU WANT TO FRINT THE DIAGRAM?(ANS.Y O
B N)": INFUT H$

1510 IF H$ = “N" GOTO 1530

1520 PR¥ 1: FRINT : FRINT TAB{( 4)"FETROFAERIC DIAGRA

]



]
£zl
(32
(43

M{AFTER ROT.)": POKE 1913,45: PRINT CHR® (17)

1530 FRINT "DO YOU WANT TO SET UP A BRAFHMIC FILE?{(ANS
Y OR N)": INFUT G$

1532 IF 6% = "N GOTD 1538

1534 INFUT "WHAT'S THE GRAFHIC FILE®S NAME?";G%

1536 FRINT D#3 "RSAVE";G$: ", AB1Y2,L8191"

1538 END

1540 D& = CHR$ (4): FOR Y = O TO &2 FOR X = O TO 140:
FOR I = 1 TO N STEF 2

1550 IF WiX,Y) < I + 0.2 AND W(X,Y) > I -~ 0.2 6070 15
70

1560 GOTO 1580

1570 HFLOT X + 10,Y + 10 +« (0 ® 7

1580 NEXT I: NEXT Xz NEXT Y

1590 RETURN

1592  INFUT "THE BRAFHIC FILE'S NAME?":G%

1594 HOME ¥ HGR : HCOLOR= 7

1596 D& = CHR$ (4): FRINT D$i "ELOAD";G%

1593 POME - 16297,0: FOKE — 16300,0: FOKE -~ 16302,
Oy POKE - 16304,0: FPOKE ~ 16301,0: VTAR 21

1600 FR# 1@ FRINT @ PRINT TAR{ 4)"FETROFABRRIC DIAGRA
M{AFTER ROT.)": FOKE 1913,65: PRINT CHR$ (17)

1610 END

1650 GOTO 120

& £ X B
AUESE, 1965, ATHLA) AR TR SRR, L AR A
FI4RRD, 1979, Hds R AR, MR A
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